91.

92.

93.

94.

dIfIge dl0
SOCIAL STUDIES

HIRERRT AUFQA FHIQ TR 699 FRIEAHQ RGP Feq ?
(A) Q& Gl (B) <uig Q¢!

(C) 2Ie1 gl (D) Qa2 9%
From which of the following rock inscriptions the detail information of Kharbela’'s reign is

found ?
(A) Rani Gumpha (B) Byaghra Gumpha
(C) Hati Gumpha (D) Bhalluka Gumpha

1947 ad216Q QIR YIRUIFG! ANRAR AFNER ARG B AIRAR AIER 66T Q91 QIR
R ?

(A) 526 (B) 536

(C) 562 (D) 563

How many princely states were there both in India and Pakistan when India got Indepen-
dencein the year 1947 ?

(A) 526 (B) 536

(C) 562 (D) 563

@4 6099 AUVNER ‘AN’ QPR RAZEM ?

(A) Qs (B) @R

(C) QIR (D) QUGS
Who did compose “The Mahabharat” in Telugu language ?
(A) Pampa (B) Kamban
(C) Nanaya (D) Ramanuja
2661 FIQ 6906 9@ FF] 672 ABRY ?

(A) gRIQIeFe 9adId (B) 2@ dea
(C) ¢edudl 4 (D) «@a9e
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95.

96.

97.

98.

Which one of the followings is a famous Jain literature ?

(A) Pragnyaparamita Sutasastra (B) Abhidharma Pitak
(C) Mahabibhasa Sastra (D) Kalpasutra

QRIEAYAR EANINIGIGE FRIFY B6C)IB AIRE FUIQ @ U FAURYEM ?
(A) a9 @269 (B) QUF @0d°aca
© 2| A (NN (D) 2URTRICQQR
Who among the following did excavate the Kausalyaganga Water Reservoir in Bhubaneswar ?
(A) Narasinghadev—| (B) Langula Narasinghadev

(C) Ananta Barma Chodagangadev (D) Anangabhimadev

201038 AR Q1A F6CIBAIRE FIQ LI AAAICIR 6w ?

(A) QTR 6Q9 (B) gaf @adcecae

(C) Q019 AR (D) R4 601PCTERD
Who of the following rulers was a contemporary of Adikabi Sarala Das ?
(A) Kapilendra Dev (B) Narasinghadev—I

(C) Anangabhimadeva -l (D) Anantavarma Chodagangadev

Q6418 FRIQ 629 694 ‘A8l AAIF G0RER A°YB FAUSA ?

(A) 99eIR (B) edial
(C) aleg (D) RS

Which country of the following was not associated with the formation of “East India”

Company?
(A) Portugal (B) Germany
(C) France (D) England

2l QARG 69Q UIQIER AIFUFR QIR 2RIFIQ IR *QULIQE ?
(A) 29 (B) 31
(C) 30 (D) 32
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In which of the following articles of our constitution, the right to constitutional remedie

been assigned ?
(A) 29 (B) 31
(C) 30 (D) 32

Q6418 FIQ 6906 IR 6CIRR URQ Q62 ?
(A) QRIFFIA AR (B) QAIRIIQ AR
(C) QARG 2RI (D) QYL@ 8 IS AYRIQ

Which one of the followings is not a fundamental right ?

(A) Rightto Freedom (B) Rightto Equality

(C) Rightto Property (D) Cultural and Educational Right
Q6918 FRIQ 629 FINHT gOd ‘2IReIoR (18R 992’ Q6T ARG 621NN ?

(A) QIg -8 (B) qig—9

(C) 6x6gna —8 (D) 626gaa —9

Which one of the following dates is observed every year as the ‘International Women'’s
Day’ ?

(A) 8-—March (B) 9-—March

(C) 8- September (D) 9 - September

QAR ARAIeE ‘9T’ @LIIN, RIQE 67160 —

(A) QAT 6dIfIe TQa6R (B) @@ QA 6dIdia dgaen

(C) QARIRG 6QIgIa TQaen (D) 248 RIQIR 6IFIR R2em

The Islam saints are called ‘Sufi’ because —

(A) They puton clean clothes (B) They put on woolen garments
(C) They puton ordinary clothes (D) They puton very costly clothes
AIRGRAR ZURIE A 609 AR ASE -

(A) @ (B) 6&al&

(C) ¢aReIQ (D) ¢daQ
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Most of the inhabitants of Maldives belong to which of the following communities ?

(A) Hindu (B) Buddist
(C) Muslim (D) Christian
2618 FIQ *T6RY 699 629 AF°F JOT AR ?

(A) gy Q-4 (B) & 9°4
(C) 6QIa ¢ (D) 69 Q°4

Which one of the following dynasty did Kapilendra Dev establish ?

(A) SuryaDynasty (B) GangaDynasty
(C) BhoiDynasty (D) Keshari Dynasty
YR AUFA°ARQ AP0 6R6063IT QUVIER RS ?

(A) 5 (B) 10

(C) 15 (D) 20

The Charter of the U. N. O. has been written in how many languages ?

(A) 5 (B) 10

(C) 15 (D) 20

6@60 9F A°RUIF A°68IIR 2AIN 06 @ 14 @d adie AN Jqg AIGEl G AUSITRR Sl
QIe Y FUAIRE ?

(A) 85« (B) 86 o«

(C) 8704 (D) 88 o4

According to which constitutional amendment, the provision for free and compulsory edu-

cation has been made for the children in the age group of 06 to 14 years ?

(A) 85th (B) 86th
(C) 87th (D) 88th

Q618 FRIQ 609G ARSI 60IFERT 6ANRIBAIR 2B R ?
(A)  Qalealel (B) agleQua

(C) 9RI6QI1 (D) <RUGR
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Which of the following was not included in the Armed force segment of Anantav

Chodagangadev ?

(A) Chariot (B) Cavalry

(C) Elephantry (D) Infantry

AIRTO 69490 FRIQ 629 6QE6Q 1688 1. 26Q 69|A2 HaRIAR AATE 6RIRURI ?
(A) IR (B) as

(C) edlQ1 (D) Q@I

In which of the following countries did the Glorious Revolution take place in 1688 A. D. ?

(A) France (B) England
(C) Germany (D) ltaly
JoIa 69168 F10 QIRIQIal AITe calIpaml ?

(A) 16504 (B) QAIg®
(C) deaeIdy (D) Qualee

By whom was the Gobardhana Matha in Puri, established?
(A) SriChaitanya (B) Ramanuja
(C) Sankaracharya (D) Ramananda

Q618 FRIQ 6RAE IU6TITIR QI Q6w ?

(A) MNLIIR AR AQAAIRT JRIFY AR

(B) @9 g 21AR IR QY @GS

(C) YIdR AR ARG QeI Il

(D) <QRYIUR AR AUIRT FARC FA

Which one of the following is not a function of the Pressure group ?
(A) Toinfluence the members of the Legislative Assembly

(B) Towork for self interest

(C) Torequestthe members of the Legislative Assembly

(D) To control the memebrs of the Legislative Assembly
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QI60YIIRRE MRYIR QRERIEQ 6906 24 F6RIT 0IQ &R ?
(A) e (B) «eom
(C) @6 (D) 6491699Q

Which one of the followings is different from the other three from uses of learning aids ?
(A) Slide (B) Model
(C) Video (D) Projector

E9ER ALY 6B AIQ 622 ANIP PG FERUEA ?
(A) @ (B) @6Rle
(C) 6@ (D) @&er

Which of the following states was not conquered by Qutubuddin Aibaq ?

(A) Delhi (B) Kanauj

(C) Kaoli (D) Kalinga

Q691996 FRIQ 6206 IR IR AR QIR AIT 29 2

(A) QIrA0fe Q0| (B) UIcAF@ @0QQ YRR T9
(C) Q64D BIQ (D) <% 6 9O FIAER RIR

Which one of the following is measured by standardised evaluation ?
(A) Organisational ability

(B) Comparative picture of relative achievements

(C) Analytical knowledge

(D) Knowledge on system and process

2618 RIQ 6296 JIia A6 AP2AA VNRIR FF63 AUNR AACIS ARG ?
(A) 9f QR (B) QaQyl Qenie

(C) gode (D) 2ERIPRI B 94Ql

Which of the following is more relevant for the teaching of histroy ?

(A) Storytelling (B) Problem solving

(C) Demonstration (D) Discussion cum narration
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QTP AYIQ FRIILG F67I TRIILRYER FRIQ 609 65481R ?
(A) AN (B) 63913%
(C) <oRdee (D) QANTAQ

Evaluation in the Annual Examination belongs to which one of the following categorise of

evaluations ?
(A) Placement (B) Diagnostic
(C) Formative (D) Summative

Q641 FRIQ 6906 6899 JAYAS TREG AIRIAER JVFR AAICRAB] F6L ?

(A) JR1E 2990 AR FFI J2d K6Q

(B) 2I98Ig1a F1-I6Q ALEUIF 8 YR00 AU Q& 99

(C) @4 AN ]IF LA 6KS!

(D) YoY% 6 LR NIR AR

Which one of the following is not relevant to impart education through the process of field trip ?
(A) Student gains knowledge by experience

(B) Emergence of ideas of cooperation and team-spirit

(C) Opportunity for acquisition of knowledge through work

(D) Acquisition of direct and concrete knowledge

Q6918 F1IQ 629 AARD FJAIEII AP DI ADG AYS 6L ?

(A) LRRIIRS! (B) 4gstaldle Qlsl

(C) AR 8 AYeS KD (D) 2LLNERQ!

The teaching of which of the following social values is not associated with history teaching ?
(A) Creativity (B) Disciplinary growth

(C) Social and cultural knowledge (D) Internationalism

6R96 2ERL IRG AIIFR ATRIA A0S QA el AVRQEF! TP FRIQ 66T 962 ?
(A)  dgleha Q19de 98 6 9ERIa A96dIe 99

(B) dgIeli Qo2Id g0 2Ige 6@

(C) 2RIe ANR6R dleQ AUIRUIQE! 29

(D) YUQIQ RIS 62IRARE0
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Which one is not a benefit that a student gets by teaching history through dramati
method ?

(A) Utilization of mental power and talent of the learner
(B) Enhancement of interest of a learner
(C) Development of cancretidea about the past

(D) Pastbecomes lively

Q618 RIQ 6RRTG YO FAQI AAAEA 2l FV AW, TV IR, ARILAS, AV,
J8% QAR 8 AMIIAR QUER IR 6@ SN ?

(A) Q10991 (B) QI06LIRR!
(C) QI0YgeR (D) 98gAE 6QIRAI

While preparing which one of the following emphasis has to be given on instructional
objectives, content selection, examples, presentation method, analysis and evaluation :

(A) Lesson Content (B) LessonPlan
(C) TextBooks (D) Tour Planning

6R96 ARIUC! QIdY A6 ARFE @62 ?

(A) J9R 9K 6 9% AVAEA CATER

(B) IZGeR AIEQ e Q6L

(C) 6ndQl AETFACHT AVR 6QER

(D) <IN AIF6Q ARG YR 6Q6

Which one of the following is not associated with the Black Board Work ?
(A) Writing in clean and big letter

(B) Keeping distance among lines

(C) Towrite and erase simultaneously

(D) To give general ideas on the left side

16213@ Q6€Ion SRIIRIER QA6 e A2I9e 6RIaeelid ?

(A) AAAEREl (B) qldad gaal
(C) Qloy gaa (D) QAL 9L
Which teaching-aid is not essential in teaching historical events ?
(A) Time Line (B) Guide Book
(C) TextBook (D) Reference Book
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AIRF26Q UARIR 2RAITG HIRRl IR 689 Qe NIV FAULI ?

(A) Q9@ (B) o@dal

(C) el ala (D) Qe Q1R
Which colour is used to show shallow water on a map ?

(A) Green (B) Yellow

(C) LightBlue (D) Deep blue

6290 PRIUYR IR FAAR G682 ?

(A)  ag°d (B) Qge 0IQ 9199 o3
(C) Q@ (D) QgQ 98 PR 9!
Which is not a factor for regulating climate ?

(A) Latitude (B) Distance fromthe sea
(C) Longitude (D) Altitude

Q% I 21 QIRY6R 62Q0I6Q JIITR AR AG2N ?

(A) 99 QI@ (B) S99 9@

(C) 46019 9@ (D) @@¢ QIa

Where do the rays of the sun fall vertically on 21st of June ?

(A) Topic of capricorn (B) Equator

(C) Arctic circle (D) Tropic of cancer

‘QRIR’ @AQUT R4 FURIR 98 QIR 98 62IRaAN ?

(A) K1 (B) @aQlg

(C) 99 (D) QO% o

The land-form “Barkhan” is formed by which agent of erosion ?

(A) River (B) Glacier

(C) Wind (D) Underground Water

AIRTQ AJVFER P67V 620G UQYD P62 ?
(A) QIR5Q QU Sl (B) ¢IR0Q A&l
(C) QIeSQ oK (D) QIRTY ARIIRR
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Which of the followings is not included in map study ?

(A) Learning Map Language
(C) Map-reading

126. 6996 910990 JRIQ 62 ?
(A) Q9%
(C) dida
Which is not a form of condensation ?
(A) Hailstone
(C) Dew

127. 629 906 20 FRIER FI65130Q Q8] ?
(A) 676Q139Q 6 26FIFaQ
(B) a6dIdaa 6 96a13aR
(C) @6aIdaa 8 6016Q1FARQ
(D) QLR B 6716QIFAR

(B) Map Preservation

(D) Map interpretation

(B) 694
(D) 92¢

(B) Cloud
(D) Fog

Stratosphere lies between which of the following two spheres ?

(A) Mesosphere and Thermosphere

(B) Thermosphere and Troposphere

(C) Troposphere and Mesosphere

(D) Exosphere and Mesosphere

128. 6@49IQ AP MR IR 699 98 QI8 62197l QIREA YITR @AM ?

(A) ogd
(C) Q019

(B) @ola
(D) gae

The Hirakud Dam Project of Odisha was established during which five year plan ?

(A) Fourth
(C) Second
129. Q6419 8P QY FRIQ 6996 &R ?
(A) {Feam
(C) 6RIAIRC

ZR - 2A/95

(B) Third
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(B) Q1€
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Which one of the following minerals is different ?

(A) Nickel (B) Lead

(C) Chromite (D) Iron

6RER OIE6Q 69Q QUG geals FAUAINRLN ?

(A) QA9 A (B) QQULRR AR
(C) @194 AR (D) @6stig

Which element is not applied in Bio Farming ?

(A) GreenManure (B) Chemical fertiliser
(C) Bio-fertiliser (D) Compost

609 69 FIAGI UHRER 6QUIAN ?

(A) o (B) 6912Q1@

(C) Q@@ (D) QIR 6oR
Which tree is found in Taiga ?

(A) Fir (B) Mehogani

(C) Rubber (D) Palmail
6291 69IFIRIR USRER @ JRIAQ YUY LFQE 294 ?

(A) ecgen (B) @9

(C) <1eg19 (D) QORIAIGRNIL,
Which type of climate is felt in Gopalpur of Odisha ?

(A) Monsoon (B) Desertclimate
(C) Equator climate (D) Mediterranean
6541 QR B AIOARR USRER 629 AR 6QSIAN ?

(A) 99 (B) 6a1@e

(C) @@l (D) <QIQIA

Which type of soil is found in Angul and Athmallik of Odisha ?
(A)  Alluvial (B) Red Soil

(C) Black Soil (D) Brown Soill
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134. 629 QB0Q QEINRG QYS! 9F A AP QIR ?

135.

136.

(A) @9 AR VIS G G 2l Fae
(B) QI9RI20Q 2l QRIRal
(C) QIYLRQ AFIQRIE), AGAS 21

(D) Q&Y 99
Which of the followings doesn’t have any connection with Global Warming ?
(A) Emission of poisonous gas and smoke from industries

(B) Smoke from vehicles

(C) Decrease in carbon dioxide in the atmosphere

(D) Deforestation

219 ATPR 629 6941 @F QIR VGO ?

(A) gas (B) Qola

(C) gomd (D) ¢9d
The Oceanic Floor belongs to which category of land form ?
(A) First (B) Second
(C) Third (D) Fourth

QEAYAQ AR 69R YLYR 6TRER TIEN 69R FACA FAIYFF UTRA *E6L ?
(A) Q21901 QALE!1, 636041, adgau
(B) 630Q4l, g, F219a1, adgau
(C) o8gaYl, FRIa1, ]Igd1, 630ad!
(D) <Ig4!1, 636041, a8gRI, FRIea1

If one travels from Balasore to Berhampur via Cuttack by train, he / she will pass the rivers
in which order ?

(A) Mahanadi, Brahmani, Baitarani, Rushikulya
(B) Baitarani, Brahmani, Mahanadi, Rushikulya
(C) Rushikulya, Mahanadi, Brahmani, Baitarani

(D) Brahmani, Baitarani, Rushikulya, Mahanadi
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2R ABAT?I ASREQ 692 JI81 2@ A°HMI6R 6QHIAIF ?

(A) Qo1 (B) <&
(C) gaQ (D) <&l
Which animals are found more in swamps of Assam ?
(A) Elephants (B) Tigers
(C) Crocodile (D) Rhinos

R0l AYINER ARG YAR16R 6% AR AU FEF ?

(A) gas (B) Q01

©) gea (D) oga

Which place has India got in the production of cotton in the World ?
(A) First (B) Second

(C) Third (D) Fourth

QRYIR6R A AFQ QIQ8 @78 ?

(A) Qlggigl @&

(B) uxde 9¥ale

(C) QI9AIQIRQ 20IQ JALRAR

(D) 2R AR 64410 R @& 390

What is the reason for forming a desert in Rajastan ?
(A) Riseintemperature

(B) Uncertain rain fall

(C) Sudden change in temperature

(D) The spread of Arabali from North to South

Al6Re 6L QIS QLRI 68Q ANER ATS ?

(A) <leda (B) QIFRQIg
(C) <4ieR (D) 20d9@

In which state is Salem Steel plant situated ?

(A) Jharkhand (B) Tamil Nadu
(C) Karnatak (D) Chhatisgarh
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JQIAIEFR AVBRRR FIR0! 9Q 20! JIR J89? '8 @8Rl AFQ ?
(A) dgueRIes 691226 @R6 (B) JdIQIeE IR0 Q@6

(C) Q0¥ 92aq JQUIY Q@QURER (D) 69416 QIR JYAUER FRY 6Q69
What should the teacher do to remedie the interview weakness of the learner ?

(A) Inspire the learner

(B) Strengthen mental strength of the learner

(C) Practise the text-books of the learner

(D) Give emphasisin oral testin the class-room

Q60199 U 986R1Q 6996 OF ?

(A) Q6P IR AT IRIQ (B) Q69IR 9@ gIgee IR

(C) REOIR IR JIPER 8 IR IR (D) Qg

Which one of the following is correct from the Nature and Scope of Geography ?
(A) Geography is a Social Science

(B) Geography is a Natural Science

(C) Geography is a Natural and Human Science

(D) Allof the above

QEAIR AIRTPER ‘=" 52 QI2Ig IR ?

(A) dRAeR 92 (B) @qAee 92
(C) @Ie1g QRIS (D) 6a@ael

What does the symbol ‘—="indicate in the Geographical Map ?
(A) Concrete Roads (B) District Roads
(C) National Highways (D) Railway Lines

QIF19 Q60IR JAQIFER Q6T 699 AROT QUCLIT 621RAN ?
(A) gede (B) gode1
(C) g2 adieand (D) Q6QIT AFICRIE
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Which method is useful in teaching regional geography ?

(A) Demonstration (B) Exhibition

(C) Free Observation (D) Indirect Observation

Q60IR J9IQIe 80 Q8Q 6RRG AR G61IF 0IQ &R ?

(A) d91 adiee (B) &%l gade

(C) 699 AAYE (D) <RYAE

Which one is different from other three from Geography teaching point of view ?
(A) Study tour (B) Educational exhibition

(C) Field trip (D) Excursion

609 99IQ 99 990 @69 95@ 8 AFY ATV @ JRIIGR 90, ARM 8 ALR 6LIRAIN ?

(A) <gae (B) Q62940@@

(C) UPYQ AP (D) @14 2RI

Which of the following type of question is difficult and time consuming to prepare but easy,
speedy and correct evaluation ?

(A) Objective (B) Objective based

(C) Very shortanswer type (D) Longanswertype

@66 JA@ 9Y 694910 RN YAT AR6R A0S AR 6 FIF1A AIAYE 76T @8 ‘QedIne’
dg0o @09l AR QB6m, 12l YEFIN FVIANR 626 IVG LIRS ?

(A) NG DI (B) QIR1Q QA&
(C) 9IY gl A°Ge (D) 998 JAQIRG|

To which method does it indicate if a teacher dividing the students of class VI into two

groups by engaging them to prepare a globe using local resources ?
(A) Local Tour

(B) Local Visit

(C) Collection of Local Specimens

(D) Project Planning
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60IGN AIRTREQ ¢ll: @ 1 : 1000000 | @8 FIRTR6Q @a6 AR F16Q 9ol 4 6Q. ¢. 62
QUEQ 2IF QPG Jge 900l 6860 ?

(A) 4&. 4. (B) 404&. 4.
(C) 104. 4. (D) 100 4&. &.
R :Fof amapis1:1000000. What is the actual distance if the distance between two
places in the map is 4 cm ?

(A) 4K.M. (B) 40K.M.

(C) 10K.M. (D) 100 K. M.

629 QFf FIRP8R AIRQAY 9PIRAN ?

(A) o (B) @@ QUQIAN

(C) 2P QI (D) <R exRdll

Which colour does indicate the plateau in the Geographical Map ?

(A) Gery (B) Deep Brown

(C) LightBrown (D) Deep Yellow

@68 J9Q AI90Q ALIABIER ARG GO TANNT EIRER, Yl YA FARVIR 60%
J80g 4oIa8 ?

(A) dIARe gode (B) 9o 9icQmdl

(C) g2 adieand (D) Q6QIT AFICRIE

A teacher taught the position of India using a physical map. Which method does it signify
in Geography teaching ?

(A) Demonstration of teaching aids (B) Directobservation
(C) Free observation (D) Indirect observation
QOO QR
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